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QUESTION 1

Which two actions should an Oracle Linux administrator perform to configure a server so that its clock is synchronized
with a reference time server? (Choose two.)

A. Run ntpd at system boot to ensure that the system clock is synchronized with the reference time server

B. Run rdate at system boot to ensure that the system clock is synchronized with the reference time server

C. Run the ntpdate daemon to update the system clock, thereby keeping it synchronized with the reference time server
D. Run ntpdate at system boot to ensure that the system clock is synchronized with the reference time server

E. Run the ntpd daemon to update the system clock, thereby keeping it synchronized with the reference time server

F. Run the rdate daemon to update the system clock, thereby keeping it synchronized with the reference time server

Correct Answer: ABD

QUESTION 2

Examine the files and directories shown: What is the reason for this configuration? (Choose the best answer.)

0 lrwxrwxrwx., 1 root root 7 Dec & 00:28 fetc/re =» re.d/rec

0 lrwxrwxrwx. 1 root root 10 Dec 6 00:28 /etc/rcb.d ->» rc.d/xchd.d

0 1lrwxIwxIwx. 1 root root 10 Dec 6 00:28 Sete/rcl.d => re.d/rel.d

0 1rwxIwxrwx., 1 root root 10 Dec 6 00:28 fetefrc2.d => re.d/re2.d

0 lrwxrwxrwx. 1 root root 10 Dec € 00:28 fetc/rec3.d -> rc.d/re3.d

0 lrwxrwxrwx. 1 root root 10 Dec & 00:28 fetc/rcd4.d -»> rc.d/rcd.d

0 lrwxrwirwx. 1 root root 10 [ec € 00:28 /ate/re5.d -> re.d/reS.d

0 lrwxrWwxrwx. 1 root root 10 Dec & 00:28 fete/re6.d -> re.dfreé.d

0 lrwxrwirwx. 1 root root 13 Dec 6 D00:28 Sfetec/re.local -» rec.d/re.local

0 1lrwxrwxrwx. 1 root root 15 ec 6 00:28 fetc/rec.saysinit -» rec.d/rc.sysini
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/etefre.d:

total 76

4 dryxr-xr-x. 10 root root 4096 Dec 4 00:218

12 drwrr-xr-x. 119 root root 12288 May 24 03:40 5

4 drwxr-xr-x. 2 root root 4086 Apr 3 05:07 inic.d

4§ —IKXI-XI-X. 1l root root 28617 May 21 2011 rc

4 drwxr-xr-x. 2 oot oot 4058& Apr 2 05:08 rcl.d

4 drwEr-xr-=. 2 root root 4096 Apr > 05:08 recl.d

4 dryxr-xr-x. 2 root root 4096 Apr 2 05:08 rci.d

4 drwxr-xr-x. 2 root root 4086 Apr 3 95:08 reld.d

4 drwxr—-xr-=x. 2 Toot root 4096 Apr 5 05:08 rca.d

4 dryxr-xr-x. 2 root root 40896 Apr 3 05:08 rchH.d

4 drwxr-xr-x. 1 root root 40596 Apr 3 05:08 ree.d

4 —IWXI-XIr-x. 1 root root 220 May 21 2011 rc.lccal
20 —-rIwEr-xr-x. 1 root root 18546 May 21 2011 rc.sysinit

A. The links in /etc to the directories in /etc/rc.d are provided to make Linux run level processing configuration resemble
the SysV UNIX configuration

B. The links in /etc to the directories in /etc/rc.d are provided to permit one set to have different owners or ppermissions
than the other

C. The links in /etc to the directories in /etc/rc.d are not required and must have been added by the administrator
D. The links in /etc to the directories in /etc/rc.d are provided to allow /etc/rc.d/rc to work properly

Correct Answer: A

QUESTION 3

Examine this output:

$ ftp 016.example.com

Connected to 016.example.com (192.168.40.131) 220 (vsFTpd 2.2.2) Name (016.example.com:oracle):
A carriage return is now entered on the keyboard and the result is shown:

$ 30 permission denied.

Login failed.

ftp>

Why is the oracle user denied access to the FTP server on the 016.example.com host?

A. The Oracle user is listed in /etc/vsftpd/ftpusers.

B. The oracle user is listed in /etc/vsftpd/user_list and the USERLIST_ENABLE setting is setto YES in /
etc/vsftpd/vsftpd.conf.
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C. The Oracle user is listed in /etc/vsftpd/user_list and USERLIST_ENABLE setting is set to NO in /etc/
vsftpd/vsftpd.conf.

D. The LOCAL_ENABLE setting is set to NO in /etc/vsftpd/vsftpd.conf.
E. The Oracle user does not exist on the 016.example.com host.

Correct Answer: C

QUESTION 4

Examine these configuration files: # cat /etc/auto.master /net -hosts /- auto.direct ro

# cat /etc/auto.direct

Infsl o0l16:/export/sharel /nfs2 -sync 016:/export/share2 /nfs 016:/export/share3

Which mount options will automounter use to mount the filesystems listed in /etc/auto.direct?
A. All three filesystems are mounted read-only, async.

B. /nfsl and /nfs3 are mounted read-only, async whereas /nfs2 mounted read-write, sync.

C. Infsl and /nfs3 are mounted read-only, async whereas /nfs2 mounted read-only, sync.

D. All three filesystems are mounted read-write, sync.

Correct Answer: D

QUESTION 5

Examine the contents of /etc/rc.d
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Total 76

4 drwxr-xr-x. 10 root root  4p9g Dec 6 00:28.

12 drwxr-xr-x. 119  root root 122288 May 24 03:40.

4 drwxr-xr-x. 2 root reot 4096 Apr 5 05:07  init.d

4 -drwxr-xr-x. 1 root root 247 May 21 05:08  rc0.d

4 drwxr-xr-x. 2 root root 4096 Apr 5 0528  rel.d

4 drwxr-xr-x. 2 root reot 4096 Apr 5 0528  re2.d

4 drwxr-xr-x. 2 root reot 4096 Apr 5 05:28  re3d

4 drwxr-xr-x. 2 root reot 4096 Apr 5 05:28  red.d

4 drwxr-xr-x. 2 root root 4096 Apr 5 05:28 res.d

4 drwxr-xr-x. 2 root root 4096 Apr 5 0528  rc5.d

4 -drwxr-xr-x. 1 root reoot 929 May 21 2011 relocal
20 -drwxr-xr-x. 1 root root 49546 May 21 2011 re.sysint

Which two statements are true concerning the files contained in the run level-specific directories rc0.d through rc6.d?
A. The files starting with S or K are links to scripts in the /ete/init.d directory.

B. The files starting with S are always invoked by the /etc/rc.d/rc script even if the service managed by that script is
already down.

C. The files starting with S or K are added by using the chkcor.fig command.

D. The files starting with K are always invoked by the /rc/rc,d/re script even if the service managed by that script is
already up.

E. The files starting with S are invoked before those starting with K.

Correct Answer: DE
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